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QUESTION 1

Which two BGP message types are valid? (Choose two.) 

A. refresh 

B. acknowledge 

C. keepalive 

D. withdraw 

Correct Answer: AC 

 

QUESTION 2

On which interface would an IP address be configured for a routed VLAN interface? 

A. ge-0/0/20.100 

B. vlan.100 

C. rvi.100 

D. l3-interface.100 

Correct Answer: B 

 

QUESTION 3

How does a Level 1 IS-IS router reach destinations outside its own area? 

A. through the closest Level 1 router 

B. along the best path to the destination 

C. through the closest Level 1/2 router 

D. through the closest designated intermediate system (DIS) 

Correct Answer: C 

 

QUESTION 4

In the Junos OS, which attribute is used before the AS path in the BGP selection algorithm? 

A. highest local preference 

B. lowest local preference 
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C. lowest MED 

D. weight 

Correct Answer: A 

 

QUESTION 5

-- Exhibit ? 

-- Exhibit -

Referring to the exhibit, if all four switches in the Virtual Chassis boot at the same time, which of the members will
assume the master and the backup Routing Engine roles? 

A. Member 0 will be the master and Member 2 will be the backup based on the serial number. 

B. Member 2 will be the master and Member 0 will be the backup based on the serial number. 

C. Member 0 and Member 2 will participate in an election process to determine the master and the backup. 

D. The configuration is missing a priority statement to make the determination. 

Correct Answer: C 
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